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管理研究所（甲組）碩士班招生考試試題

科目：經濟學

一、選擇題：60分(每題2分)

1.When the production possibility frontier is a straight line,

	（A）opportunity cost is increasing.
	（B）opportunity cost is constant.

	（C）opportunity cost is decreasing.
	（D）resources are not scarce.


2. Which of the following explains why demand curves slope downward?

	（A）Prices and income.
	（B）Substitutes and technology.

	（C）Resources and technology.
	（D）Substitution effect and income effect.


3.If macaroni and cheese is an inferior good, then a decrease in income will result in

	（A）an increase in the demand for macaroni and cheese.
	（B）a decrease in the demand for macaroni and cheese.

	（C）an increase in the supply of macaroni and cheese
	（D）a decrease in the supply of macaroni and cheese.


4.Which of the following shifts the supply curve for gasoline rightward?

	（A）A situation where the quantity demanded exceeds the quantity supplied.
	（B）An increase is the price of gasoline.

	（C）A decrease in the price of a resource used to produce gasoline, such as crude oil
	（D）An increase in the demand for gas-guzzling, sport utility vehicles.


5.If a rise in the price of oranges from $7 to $9 a bushel, caused by a shift of the demand curve, increases the quantity of bushels supplied from 4,000 to 6,000 bushels, the

	（A）supply of oranges is elastic.
	（B）supply of oranges is inelastic.

	（C）demand for oranges is elastic.
	（D）demand for oranges is inelastic.


6.If marginal utility is positive but diminishing, then total utility must be

	（A）decreasing.
	（B）positive and rising at an increasing rate.

	（C）positive and rising at a decreasing rate.
	（D）positive and rising at any rate.


7.According to the paradox of value, expensive goods, such as gemstones, provide consumers with

	（A）high total utility and low marginal utility.
	（B）low total utility and low marginal utility.

	（C）low total utility and high marginal utility.
	（D）high marginal utility and high total utility.


8.Economies of scale

	（A）lead to rising long-run average costs as output increases.
	（B）occur if output more than doubles when capital and labor double.

	（C）occur if output less than doubles when capital and labor double.
	（D）occur when management complexity brings rising average cost.


9.Individual firms in perfectly competitive markets are price takers because

	（A）the government sets all prices.
	（B）buyers set prices.

	（C）firms decide together on the best prices to charge.
	（D）each individual firm is too small to affect the market price.


10.A firm’s short-run supply curve is the same as

	（A）its entire marginal cost curve.
	（B）that portion of its marginal cost curve that lies above average fixed cost.

	（C）that portion of its marginal cost curve that lies above average total cost.
	（D）that portion of its marginal cost curve that lies above average variable cost.


11.In the long-run equilibrium, firms in a monopolistically competitive industry produce at an output level where

	（A）P>ATC but MR=MC.
	（B）P>ATC and MR>MC.

	（C）P=ATC and MR=MC.
	（D）P=ATC but MR>MC.


12.A natural monopoly is defined as

	（A）a market in which competition and entry are restricted by the granting of a government license.
	（B）an industry in which one firm can supply the entire market at a lower price than two or more firms.

	（C）a market in which competition and entry are restricted by the granting of patent.
	（D）any market where one firm constitutes the entire industry.


13.A single-price monopolist will always produce where the elasticity of demand

	（A）is greater than 1.
	（B）is smaller than 1.

	（C）equals 1.
	（D）equals infinity.


14.Which of the following markets will have the largest deadweight loss?

	（A）A market that consists of perfectly competitive firms.
	（B）A market that consists of a single-price monopoly.

	（C）A market that consists of a perfect price discriminating monopoly.
	（D）None of the above. There is no deadweight loss as long as firms produce at the level of output where marginal revenue equals marginal cost.


15.The demand for labor depends on

I. Technology

II. Prices of resources other than labor


III. Price of the product.

	（A）I and II
	（B）II and III

	（C）I and III
	（D）I, II and III



16.A backward-bending supply curve of labor exists whenever

	（A）the substitution effect of a wage increase is larger than the income effect of that wage increase.
	（B）the substitution effect of a wage increase is smaller than the income effect of that wage increase.

	（C）the substitution effect and the income effect of a wage increase work in the same direction.
	（D）the substitution effect and the income effect of a wage increase work in opposite directions.


17.The fraction of a resource’s income that consists of economic rent is larger

	（A）the more elastic is the demand for the resource.
	（B）the more inelastic is the demand for the resource.

	（C）the more elastic is the supply of the resource.
	（D）the more inelastic is the supply of the resource.



18.Which best describes why externalities exist?

	（A）The inability to estimate marginal social cost.
	（B）The inability to estimate marginal social benefit.

	（C）The absence of property rights.
	（D）The existence of marketable permits.


19.The efficient quantity of pollution is when

	（A）the marginal benefit of pollution is equal to zero.
	（B）the marginal social cost of pollution is equal to zero.

	（C）the marginal benefit of pollution is equal to the marginal social cost of pollution.
	（D）the marginal benefit of pollution is at its highest level.


20.Which of the following is the best example of a public good?

	（A）Public transportation.
	（B）Clean air.

	（C）Community swimming pools.
	（D）Postal services.


21.Which of the following is likely to be nonexclusive but rival?

	（A）A hiking trail.
	（B）Cable TV.

	（C）Flowers along the highway.
	（D）A radio station.


22.Which of the following is not included in the investment component of GDP?

	（A）A household purchases a new washing machine.
	（B）Purchase of new equipment by a business.

	（C）A firm builds a new warehouse.
	（D）A business fails to sell all of its output and therefore experience an increase in inventories.


23.Suppose the Consumer Price Index for the year 2000 is 143.6, What does that number mean?

	（A）On average, goods cost $143.6 each in 2000.
	（B）On average, goods cost $243.6 each in 2000.

	（C）Prices rose 143.6 percent over the base year, on average.
	（D）Prices rose 43.6 percent over the base year, on average.


24.As a nation’s GDP increases, that nation’s

	（A）autonomous consumption increases.
	（B）autonomous consumption decreases.

	（C）exports increase.
	（D）imports increase.


25.Which of the following could affect the amount of money a person is willing to hold?

	（A）The use of credit cards increases.
	（B）The price level rises from 103 to 107.

	（C）The interest rate that you earn on your saving account increases.
	（D）All of the above are correct.


26.The aggregate demand curve is negatively sloped in part because of the impact of the interest rate effect on

	（A）consumption.
	（B）net exports.

	（C）private investment.
	（D）government purchases.


27.Given a recession gap, expansionary monetary policy will ____ interest rates and ____ the bond prices.

	（A）increase; increase
	（B）increase; decrease

	（C）decrease; increase
	（D）decrease; decrease


28.The relationship between bank reserves and what happens to the money supply depends on

	（A）how vigorous the Central Bank is in directly changing the money supply.
	（B）the implementation lag.

	（C）the recognition lag.
	（D）choices made by banks and their customers.


29.All of the following are examples of automatic stabilizers EXCEPT

	（A）personal income taxes.
	（B）means-tested federal transfer payments.

	（C）welfare benefits.
	（D）gross domestic product.


30.An expansionary fiscal policy either ____ government spending or ____ government revenues.

	（A）increases; increases
	（B）decreases; increases

	（C）increases; decreases
	（D）decreases; decreases


二、簡答題：40分(每題10分)

1.請利用無異曲線及預算線畫圖說明替代效果及所得效果。
2.請以要素邊際產量、要素價格以及產品邊際收益之關係，討論廠商利潤最大時之要素

雇用量一定是在該產量下成本最低的要素雇用量。(請以
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種投入要素的邊際產量，
[image: image3.wmf]i

P

代表第
[image: image4.wmf]i
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[image: image5.wmf]Q

MR

代表產品的邊際收益)

3.請畫圖說明在兩種不同顧客群間的差別訂價法。
4.設一包含政府部門的凱因斯模型如下：

Y=C+I+G

C=40+0.8(Y-T)

I=80

G=50

T=50

(1)請計算均衡國民生產淨額Y。

(2)請計算投資乘數。
背面尚有試題題
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